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Note : Attempt questions from each section as directed.

SECTION - A

Answer any two questions from this section :	 2x20=40

Why do we need to eliminate seasonality from
time series data ? Critically examine the common

methods in use for eliminating seasonality.

What is geometric mean ? When would you like
to make use of geometric mean ? Given two
positive numbers 'a' and 'b'. Prove that geometric
mean lies between arithmetic mean and harmonic
mean.
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What is a normal distribution ? Discuss its first
and second moments. How these moments
change in its relation with Binomial and Poisson
distributions.

(a) State and prove the Addition Theorem of
probability for events which are :

mutually exclusive

not mutually exclusive

(b) A survey was conducted in a city to
determine readership of newspapers. It was
found that 50% of the residents read the
morning paper, 60% read the evening paper
and 20% read both newspaper. Find the
probability that a resident selected reads
either the morning or evening paper or both
the papers.
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SECTION-B

Answer any four questions from this section : 	 4x12=48

The time between two arrivals in a queuing model
is normally distributed with a mean of 2 minutes
and a standard deviation of 0.25 minutes. 	 If a
random sample of size 36 is drawn, what is the
probability that the sample mean will be greater
than 2.1 minutes ? (Note that 2.38 has an area of
0.4193 in the standard normal table.)

A machine produces ball bearings with diameter
of 0.5 inches. It is known that the standard
deviation of the ball bearings is 0.005 inches. A
sample of 100 ball bearings is selected and their
average diameter is found to be 0.498 inches.
Determine the 99 per cent confidence interval.

7.	 A sample of 400 students in a class is found to have
a mean height of 171.38 ans. If the population
mean height is known to be 171.17 cms with a
standard deviation of 3.30 cms, will it be regarded
that there is no significant difference between the
sample and population mean heights ?

Estimate the linear regression equations of X on Y
and Y on X from the following data :

X 1 2 3 4 5
Y 2 5 3 8 7
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Draw the 'less than' and 'more than' ogives from
the following data and determine the median size
of companies.

Projects
(Rs. Crore)

No. of
Companies

Profits
(Rs. Crore)

No. of.
Companies

10-20 8 60-70 10
20-30 12 70-80 7
30-40 20 80-90 3
40-50 24 90-100 1
50-60 15 - -

Using the data given below, calculate Fisher's
ideal indexand show that it satisfies time reversal
test :

2006 2007
Commadity Price Quantity Price Quantity

A 12 20 14 30
B 14 13 20 15
C 10 12 15 20
D 6 8 4 10
E 8 5 6 5
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SECTION-C
Answer all the questions from this section :	 2x6=12
11. Write short notes on any two of the following :

Rank Correlation
t distribution

(c) Relation between mean, median and
mode

12. Differentiate between (any two) :
Primary and secondary data.
Statistic and parameter.

(c) Type I and Type II errors.

EEC-13
	

5	 P.T.O.



-13

	 7crift1 *141141

,1d

sT-1, 2010

1-0cOch1-1	 : 3121 ii

... :	 11(N	  fafaraT

ti	 vur ci oh -11•

FRT :3 VQ-
	

3TNW-d17 3�W : 100

(TR 941-t- 70%)

	:	 fTff	 Tff:?-w 9177T	 3	 apt 	

WTI	 :	 2x20=40

c 9NTOT 3-fk-t	 -ftit 31—ffffdT (seasonality)

ch)	 TTI't Fri	 :3R4	 13T	 h

T1 7	 Fri	 (<04 4 -srza--	 rarq-T4

7:11)-- 7 14Tvg °NI to? amr ijukfl7-1TRzl 	 -1.1;17 7T ohd WT

mg+ ? Tit t tr97-11

ft7-4 .w1-* ff 	 4r2f,	 4rar 311-{ Ic-4-111

Tri t.71 t 	 mf 4 Fe6d t

EEC-13
	

7	 P.T.O.



3TITRT :T	 =Mr t ?	 	  fg-4171'

(moments)	 tfq ttfq 	  TiTzRt 4d-f

t TIM 3174 44%11	 -4q-	 Ala f?

(a)	 -1 4-1	 (Aci 	 ct)	 :

(i) 4k ' --R 347TA

(ii)	 4t2-4t 311:1 	 3424-a, Tk
xif^Ta	 err	 4) , 1 51)7T 	 «47b 	-ftrz

(b)	 fit	 -14-11=-11t	 fiqi-Tur

t,	 *14wir f-*-Trt TR4T1 41q1 4 111 Fa, 50%

fiqT4T	 e	 T 3-TU47 60% - 11-14 chi at 20%

Y11 4-1 1 .-117:Frzt	 31-uq-R-cr-0 f 1 s+i-iahnr

rot,	 fTq-R#zualTd-q7- zrt

fit	 F-11	 TriTir	 3p3KR Li qdr t I

EEC-13	 8



1417-7N

TT %TT t	 d7R	 :	 4x12=48

LiRt) (queuing) Hisci T1 t 377Trit (arrivals) t

T1TFI,	 Tcl	 4.Feff t 3tR ,316 1T1t74 2 f1:1-9-a

t 3 f 4-111 0h roNdi 0.25 #1-97	 t I ire 36 3TITTT

q ICF-cO ch 3f-d-TA komor v11	 NIRIehdi TEfi

5fd-q-01,11al, 2.1 friaz	 141( ? (tzlTff

Hfri ch N-11 4-1H-T dlrri chf TT 2.38	 0.4193

t I)

14 0.5	 =fRi7:if{/T 	 t i

gild t 	 	 Sri 1 IAN* recIri-f 0.005 	  t I

100 4r"	 4zift-TT	 fwzrr AM' t 31

TITT alUiff ciIN 0.498 d	 T 1-1111 	  t I	 99%

rcRaR-4-1di 31TTT7 TT fitriToT -T-1f--A7?

-.TT -4 400 fTarflit	 "gf-d--0 	 171.38 k+-11.

Tal	 k-idr r4ocir ti	 	  4dr tr.!, 74-rifF irruf

171.17#1t. t	 ‘114 3.30 4111".	 T	 t

cNr t(4 TITwr -q-R1Tri rch 7rd--0	 Trifg Trruf

TrIzfw 3f-d-T	 ti

.11-1 rM tg cf 3T1.--	 Y -ER X 3T1T X 17 Y	 tftt-T

TrrurzraT	 :

X 1 2 3 4 5
Y 2 5 3 8 7

EEC-13
	

9	 P.T.O.



1-1J-ircifigd 34-* 'A' f9-1 f 47 'A '	 f	 armor

(1107-*-0 arrwR

fiCirrur	 :

T'llW4-13. 4 i q 
•

WIT eh i 5
it

ch 4 1 e-4

f-1 4.2.0-11 fli.Y..11

10-20 8 60-70 10

20-30 12 70-80 7

30-40 20 80-90 3
40-50 24 90-100 1

50-60 15

f -̀1 iMftncr 3-1431 	 	  ftb-R-R

ft3-4	 14) 16 111c.1-3c31.11uf

	

Lit	 1-1-7q tcir e :

2006 2007

Commality Price Quantity Price Quantity
A 12 20 14 30
B 14 13 20 15

C 10 12 15 20
D 6 8 4 10

E 8 5 6 5

EEC-13	 10



WITT-1T

%TETI t Fr4-51791 t drIt	 :	 6x2=12

11.	 tgcf	 Ti4 t-Jfr y

(a)TFOU

Trrar,	 5q•-f cT 4-1 5 t.	 tr ki.(q

12. af-dT TcTE	 (&-4f1#) :

5rT4 W 1dtffIzIT

mrciqizr 	

(c)	 	  174 	  H

EEC-13	 11


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10

